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DM 01 (Draughtsman Mechanical) : Series — A

7. 4. 9T / Question IeeX e
Q. No Answer Options
sfere - &, aAfgwe A, oAl ¥ | @) GeFRT / Mass
{ Eﬁ]’ T 'a?.n' %‘I b) Ads / Volume
" | In AUTOCAD the MASSPROP command will | ¢) diser dle® / Bounding box
provide information of solid body. | d}) 3wi& g8l / All of the above
tF gl sioAmE & feaar RBREEt &) a) 360
o | fasfe R ¥ b) 180
. - : . e . ¢) 270
A half-moon protractor is divided into how |
: d) 310
many degrees?
a) I FeTT / hidden feature
TH SdT @WUs, oY 39, U UH IR W& @3 | b) gocd T Fewm / center of a circle
3. afgd ¥RGT W@r _ B & ¢) AT qofel T Feg HaT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) FBear &7 g
' center of a radius
| a) TEETAY d@Er 8l
‘ Parallel straight edge -
YAl FOXET # WIET 3TN F HS IS | b) 45 B3 Freror
4 famfaf@a 1 gfErfag @ & 45 degree triangle
- Several of the tools used in traditional c) el CFOT
draughting include the following: Circle template
d) IREFT
All of the above
JosT AW v ¥ fafire amy@s | @) e / Symbol
s A ¥ _ b) ﬁ'c:%‘r / Perspective
Welding drawings arc a special type of | ) s / Assembly
drawings? d) 3msHATEH / Isometric
der yRRetl @ TE aeg ¥ e @ a) s / Orthographic
. Fed § b) Eed/Perspective .
Projection of an object by three views is known ¢) INFHARH / Isomatric
as ? d) fads / Oblique
s _ a) gAfAfy $r @r
dar Su Regfed wHOT W@ owoowEE Line of symmetry
7 | Towle w & faw G s & b) &ew Y@ / Center lines
. Long-da:hed dottegl narrow line is used to ¢) Rrr g / Pitch circles
represemt d) 3T | / All the above
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DM 01 (Draughtsman Mechanical)t: Series — A

g3 / Question

e Taarey
Answer Options

@ U TR & T IRAT Wiee g
= BT &

o,

Bureau of Indian Standard publication for line
and lettering is ?

SP46
BIS 41218
ASME Y14.2M
ISO 9000

Hierhs # SrrgEr Yed afRa e dwwer @
N THIA, Th 3EF & A Fr
§THAT g Tnfge

When filling an area with a hatch pattern in
AutoCAD, the drafter needs to be able to

Sidg3 aF UL A HT FEAT
set the layer to Defpoints -

914 qER g WoTer WO e
T ¢ / see the entire bounding
area to hatch

FY F G

set Ortho on

ISO s &g &t

turn ISO grid off

10.

wﬁmmww‘r@r
ﬁrmﬁa%m%‘

In section, one quarter of the
object is removed?

b)

uf¥saT / Revolved

farRta / Removed

H?:I}ﬁ‘x’}' { Quarter
37%] / Half

11.

THaT wHCTE e A & o W 3w
WW%W%WH@%@
¥ gemd

The AutoCAD command used to combine two
or more primitive shapes into a single complex
3-dimensional model is ?

b)

c)
d)

S5 / Add
gfarae / Union
Hereat / Attach
WA / Form

12.

TR 3w Fr By 9§ 508 oot f seaaw
AT giEAfIT @ & F &9 # #eiiia
o ST &

The condition of a part when it contains the
ieast amount of material is referred to as

a)
b)
©)
d)

TA.TAEL / LMC

—AdH HAT / Smallest size -
arFafds AT / Actual size
TA.TAEE. | MMC

13.

AT SR o8T9T § Tifd e {@r
o T H ST ST R

Baseline dimensions are referenced from a
common geometric feature known -as a

a)

Y / Edge

b) =ier / Corner

c)
d)

3eH / Datum
et faig / Point of reference
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¥, . %7 / Question IR TaFed
Q. No Answer Options
TH G # fGer ud RER {fRa @ ared | a) [@e @r / Dimension line
dRafet garr got 4 o5 @ gt & | b) fawamor 3@r / Extension line
14. _____ isalineterminated by arrowheads, | ¢) e Y@r / Arrowhead line
indicating the direction and extent of a d) % x@r / Centerine
dimension. o ,
- | a) ¥ 3T / Dimensioned size
15 TR 1T 77 ;”? I 31 — @T'ﬂ‘%' b) 3cureet 3AET / Production size
. The measured. size of a finished part is ¢) @ 3 | Basic size
dy areafaes 31AT / Actual size
a) Fag ulitshd Red
T Hdg B AR A & fow gl e | Surface finish mark
16. g?}; W mr Sdr %‘ ’ b) FQﬁﬁ'hT ﬁ'-'I—E'?T / MaChining mark
is used to indicate that a surface is to ¢) GG gaE
be machined. Roughness indicator
d) Coordinate mark / GH=aT YIF
a) YA EAEH
, Portable documents
Afe 3@ & U 0 9Radel R wEr | b) U WU sl
17, | @ ST Feqafcia @ S § A revision block
An accurate record of changes made to release ¢) Hel o BT
drawings is tracked via : The basic title form
d) HEFERT IR@T
Working drawings
FIUT GET A gAY ¥ HT, 9 FI0T UG YT | a) 30Tt / Adjacent
T § wiEAfed o B © b) W& / Aligned
i8. Angles project true size, only when the plane | ¢) si=ag / Perpendicular
{ containing the angle and plane of projection are d) TAET / Parallel
?
a) 3N fog / it ‘
. " . . ) - h- - »
Tedh Mt #, F 96F UF I & b) z;;; %?;p ot/ horizon
19. T 3 A T S & Station point
In perspective drawings, is placed ¢) AT v / BT o
between the observer and the object. . .
; Plane of projection / picture plane
d) o ¥@r / Ground line
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9. T. 92T / Question 3t [Adeq
Q. No ' Answer Options
a) TE =1 asaAics aF I Flar
set the grid to isometric
was NS 5 R b)lﬂmqwﬁg‘mﬁgaﬂaaﬁa
20. BEHE f[ o ﬁtn‘— ﬁ m‘c . d@?ﬁ .% . set thé current layer to Defpoints
efore starting an isometric drawing in :
AutoCAD, the draughtsman needs to Q) g m # §g
' turit Object Snap off
d) 3irat &T §€ HEeT
turn Ortho off
AL AT 7§ gga A ses a) @ 9FR / line type
. Fr GIEARIT ST aRT b) effe @& / sheet number
" | The title block used on working drawings | ©) Rd ¥e / layer set
should include the d) IS F8fr / all of the above
a) aifde ¥ & ¥ifvg
placed horizontally
faRee fagwor ofic ot s faww b) sies faww #
2 FGIREITN in bold text
" | The text used on a typical detail sheet should be | ©) IREGHeTcAS a9 o1 &
. in an architectural text style
d) 39T § ¥ FiF ofr =g
none of the above
v oo s N | material
? ¢ = b) =g Y@M / center line
23, | e Y ¢) TI W W A
. The thread note for a typical bolt will include L2 _
fhe . major diameter of the thread
d) 3rwaT gfT / offset distance
s A, UF do B ol TH IHFAHR | a) O / Revolve
IN@T @R fRaT ST WeaT €, dasal | b) 3T@ROT / Extrude
24, | U1 GIRT fRAT S R ¥ ¢) uHT / Sweep
In AutoCAD, a cylinder can be created by |d) Iqdierd & & s off 6T
drafving a rectangular shape, then by none of the above
tool.
afg wE Y@r (1,5) wd (-3,5) Rt F | a) fia gfae / Three units
FRNFET v ST & o swdy ARG oW | b) T IfE / Four units
25. gl ¢) [T g / Five units
If a line is drawn between points (1,5) and (-3,5) ; d) U I / One unit

then it’s absolute length is
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DM 01 (Draughtsman Mechanical) : Series — A

q. &, vesT / Question 3eal A&eq
Q. No Answer Options
21 4. arar v of9r wWigen ofg WgyT ud |a) 3.6kg
se aTelr s § WA ¥ Ay oEw B Aerd ‘;)) ke
1 g & afir ol o ng/cmf’.% ar Uisq. &l d) 3.6'961{gg'
2. | — ‘ '
" | A hollow iron pipe is 21 om long and its
external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 gm/cm?, then the
weight of the pipe is 7.
a) 9IRS NG JaYeT
Project drawing management
b) 3curg 3MEe wfETET
27 PDM & fou wwifaa & Product drawing manipulation
PDM is the acronym for ¢} 3G 3T WL
Product data management
d) gRESEr 2er gfaree
Project data manipulation
a) 15 3rem@r 30 BT
15 or 30 degrees
fads m=ei #,  gegyaer Y@t & | b) 25 ruar 30 BT
g, | O sicaftd @Awad: ggEd AT Ed § 25 or 30 degrees .
In oblique sketches, the most commonly used | ¢) 60 32raT 90 3Rt
angles for receding lines are : 60 or 90 degrees
d) 30 zr2rar 45 BT
_ 30 or 45 degrees
aEgwellcAs D" AT Yedl  FT A ;% %g:égg':
29, The measua:;enment of -architectural "D" size ¢ 1 X177
. TTd) 34n X220
paper is :
UF g F UF T g Seoa i #T gl fa) €9/ Lead
. ®gdarg b} f=r / Pitch
30. The distance a screw thread advances axially in ¢) & / Tum
on_e tum 1s A d) e / Crest
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g2l / Question

Ieal [deeg

Answer Options

31.

IR U9 HFheq TAET IUEOT F w9 A
F TAET Hh, 3Meed WA H

F FT A TEESH g Ghar § AT Scureehar

3aitT @ Taeed Y ARl §

Using as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

Mg FrefaTe
Development plans
gared gl Bigd
Portable document files
The Internet and e-mail
3 =¢ / Ganit charts

32.

deibs o, w30 fAL Y @ oS g
B v T o B e S S
FREE F TR g @ F R Rig § 45
e & gram

In AutoCAD, using the Relative Polar
Coordinate System to add a 30 mm line that is
45 degrees from the end point of the line
created above the drafter would

d)

@30<45 T139 FI vd el gara
type @30<45 and enter

30 €189 H{ &F T & IWF
type 30 back slash and enter

30 TIET ®{ RIS T & 39T
UeT gard

type 30 forward slash and enter
30 ergq Y wd 3o f6g T yar
oI & AT ZraAffs gaye
USIHISC I JATT S g TIT
ETy

type 30 and try to use the
Dynamic Input readout to find
the end point

33.

T HT Fr s od wlwg F doFr siaw 23
#. ¥ afy suwr ofET 206 A & A swer

g el gpm

The difference between the length and breadth
of a rectangle 1s 23 m. If its perimeter is 206 m,
then its area is

a)
b)
¢)
d)

1520 m?
2420 m?
2480 m?
2520 m?

34.

serde #, THOT GANT FH G F
TAET O GHE ARG S B @A UH
Fog Il &

In AutoCAD, one quick way to view the entire

-| drawing area is to use the Zoom command by

typing

SHOWALL 2ET #td Ul
type SHOWALL enter

7 BT Fh A v

type Z enter A enter

7 23T FH T E vex
type Z enter E enter

ALL 259 &% Ul

type ALL énter

Page 7 of 14




DM 61 (Draughtsman Mechanical) : Series — A

99 / Question

I faFed

~ Answer Options

35.

U HfErhE Ueg S qd INFET avg w el
T & O e wed § wefg e ¥
T HETRATAN 3T Tl IR Figel H
saae T ST gehar & gl &

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can

be inserted into any other drawing file as
needed is a

a)
b)
c)
d)

salies / Block

3% / Brick

‘s"‘ﬂf[ / Balloon

FREd & ¥ Fg ofr 7t

none of the above

36.

U ellh T Goled P GAT HRGHF A HUR
forg Tafad #td w&g fA¥ce waw &ar Jgar
¥ ifF =g foreifia aar ¥

When creating a block the drafter needs to pay

particular attention to selecting a base point
because it determines the

AT / Scale

guieT 0T / rotation angle
fedeeT fag / insertion point
got / color

37.

aﬁSﬁ.ﬁ.ﬁﬁsﬁ?ﬁ%,qwﬁarwa’r
150 #r, x 150 #., & #fF W FORar § 9@
. @rg

When a 5 om of rain falls, the volume of water
that falls on 150 m x 150 m of ground is

a)

)
a

112.5 cu.m
1125 cum
11.25 cum
11250 cum’

38.

T B F ARl 3T TF AHI IHET w7 T
P & fSowr oamem oguhr U
eI F o wF wtd = F fav fhar S
3

is a conical-shaped recess around a
hole, often used to receive a tapered screw
head.

919 / Boss

Tiz-E / Spot-face

uig fR&feelt / Counter-bore
ufd 8%y / Countersink

39.

AT fagda, Alsa, Er 307 959 Faw faar
fF W F ogepi o Hweud & wR
iffireas HT I & §

allows the designer to conceptualize

objects more easily without having to make
costly illustrations, models, or prototypes:

FoET WG Ted fersAfor
Computer-aided manufacturing
HYET T Ied Hpeq
Computer-aided design
Computer-aided engineering
e WETICT 9o 31 u%q
Computer-aided prototyping
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T, T
Q. No

et / Question

3 Ao
Answer Options

40,

Uk 6 AL dd vd 4 A g gl iy B 71
A 25 g f s A uElr & s Oaw @
FeT AT gt :

A water tank 6 m long and 4 m wide contains

water up to a depth of I m 25 em. The total area
of the wet surface is

a)
b)
<)
d)

[aS]

49 m
50-m
25 m
55m

[ R )

41.

& WEIr & gRued e A, R
eIar Fr HeAfa & el &

In a bilateral system of tolerance, the folerance
is allowed on

d)

AREARH JAT F TR al®
one side of the actual size
ATHIT ATHT F UF G
one side of the nominal size
eI AT F gl aiw
both sides of the actual size
ATHT AT F AT W

both sides of the nominal size

42,

UF AT & avwe F ufquaar gfy & oy
T Yed% WIEs # 20% SN sers S § ar
gl & '

The percentage increase in the area of a
rectangle, if each of its sides is increased by
20% is

a)
b)

©)

40%
42%
44%
46%

43.

& Idn & GRIT T B Fwrer gar &

A file removes the metal during

d)

AT % / forward stroke
LY T / return stroke
gl 30T v adr w’re

both forward and return strokes
3Fd H U RIG o mEr

none of these

44,

F T 25 Arear, 12 7. gler va 6 #L e )
FHHT AR TF el HT & U FT F &

iy gt /@ 75593 § ar gram

A tank is 25 m long, 12 m wide and 6 m deep.
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is

a)
b)
c)
d)

Rs. 4560
Rs. 4580
Rs. 5580

‘Rs. 5680

4s.

AG ST H Fed & FA A, B &1 a7 |

o7 glem anfge
In order to cut mild steel, the cutting angle of
chisel should be

a)

c)
d)

30°
45°
50°
60°
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7. 4. wesT / Question 3ccl TFeT
Q. No -Answer Options
. . a) UFET / Graphite
Sfel A et 3 d el I 6 G e Silicon
46. GHT-IT'%.* ! Which of the following is used in ¢) TEHTET / Charcoal
P encﬂs?_ d) ®E®RE / Phosphorous
a) iRt wd grEgie
oxygen and hydrogen
b) 3iierEie, sregere, THiiee T
faffiet TR F dosa A wgewd W AreereeT
47, B afeAfaa s3Er oxygen, hydrogen, acetylene and
The gases used in different types of welding nitrogen
would include ' c) sifFdier, vHiees vd HEA
oxygen, acetylene and argon
d) e wd S
oxygen and acetylene
AR, FAR, Irer dHaRl HT FTSAT F | a) Braw et / feeler gauge
ZarT S fRaT o war ¥ by wdf afer / slip gauge
48. The accuracy of micrometers, calipers, dial | ¢) e aier / ring gauge
indicators can be checked by a . d) wer 9t / plug gau gé
m*ﬁ@m;% yosg | @) fasmsE / Divider
19 T ST ¥ 7 b) 4A=T / Scale .
. is used to check the squareness of | ¢) ®adT / Trysquare
surfaces. ‘ d) g / Surfacgange
a) I S A TAA
B ' Strengthen the joint
e ¥ far fEfa gl @ | b) werRl # RgReT e
50 gfFuus e wae fsarfed frar srar & Avoid tearing of plates
" | Caulking and fullering is performed on riveted | ¢) &7 et
joints to Prevent leakage
d) 39T Teir
All of the above
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10%) (5 x 10%), the result is

9. 4. 2T / Question e fawed
Q. No ' Answer Options
a) dg3t & INFET fmar o7 ghar &
can be drawn into wires
b) 3= &g FT el FT T &
L can cut another metal
POl T ard &1 7 4 § GwHr a9lg ¥ ¢) wfavg vl Feger & @Ry s
s | __ | - B §
o The hardness is the property of a material due breaks with little permanent
to which it . : distortion
d) ucelt Wat F @i 3rear gatar
AT S G §
can be rolled or hammered into
thin sheets
v gard & Aunend e aug § I8 Hiae | a) 9T / Brittleness
R faeaor & W H gier & A b) @=rar / Ductility
Fgd & c) JTETaEEdar / Malleability
52, The property of a material due to which it d) varfesar / Plasticity
breaks with little permanent distortion, is called
FON SEAIT A g T & TIFF AT 37aR | &) FEEFOT / Carburizing
53 | TRm 2 & ’ b) wETEEEOT / Normalizing
" | The heat treatment process used for softening | ©) 3o / Annealing
hardened steel is d) GERRa / Tempering
‘ ‘ : a) dider / Brass
s am, fea, 5% & ﬁi‘s;ﬂl ig F ————W & b) @I / Bronze
2% | An alloy of coppe; tin and zinc is known as ¢) T 1 / Gun metal
d) Nuntz &g / Nuntz metal
a) HB
55 i@ # & &l |1 90 o ®oRad &2 | b) H
" | Which of the following pencil lead is hardest? [c¢) B’
‘ : d) F
o ToT a1 WA & AT w3, (6 % 10%) (5 % | &) 3><1088
5. yfomrar b) 30x10
56. ‘]:R?h), th b‘s)mT ltiptied, (6 = | ¢ 200> 10"
en these two numbers are multiplied, ( d) 3000 x 107
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7. . .99 / Question 3 AweT
Q. No Answer Options
a) gag / Henries
57 3 faier & A R o § b) 3???1{4’0111118
Resistance is measured in ¢) d1¢ / Watts
d) aeT / Volts
afy w9 30 gef & faw 400 W fr afdq =1 |a) 13kWh
e R E A s fam | D) 133 kWh
- : ¢) 12kWh
58, @ ' d) 12.3kWh
If you used 400 W of power for 30 hours, you
have used .
a) TAWE T e
viscosity of ink
SHIET T ZAT FM 1 SFaraeT —_— ) ca;illaryij:;on phenomenon
59, | AT FAE _ ¢) SR ¥ ZENT T 1 RERer
’_l"he absorption of ink by blotting paper diffusion of ink through the
involves . .
blotting :
d) W ferar
siphon action
a) AT URT FT A9 THF
the heating effect of current alone
. RGIERI Bl
| S8 TEEER F A $r goE @ hysteresis loss alone
o, |ECTE _ c)aﬁ?ﬁuma:ramﬁrqmva‘
The heating of the large transformer is due to ey grer
‘ - both the heating effect of current
and hysteresis loss
d)y meaEa & dJig i

" intense sunlight at noon
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circumstances.
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g, o, 9% / Question T TatheT
Q. No ' Answer Options
_ E a) Icd F&Tor / hidden feature
U @A wWus, @y 3, ud s 3N efer @us | b) ged F Fen / center of acirele
|| e amie e grcr & ¢) 9w qeld H heq HeT |
A line drawn with a long section, short dash, center axis of a hidden cylinder
g
and another long section is a d) Tsar & Feg
' center of a radius
Aot qﬁm &N | e TEq F T A a) wadifule / Orthographic |
)  gEd ¥ - | b) "ed/Perspective
Projection of an object by three views is known ¢) 3nsuIAfes / Isomatric
as ? | &) fo=i® / Oblique
que ‘3}'[" B r e o B aa—g_ﬁ's\)]' a) m f Revolved )
; CRRE fhar AET Y 'b) TR / Removed
In section, one quarter of the | ©) aqerer / Quarter
obiect is removed? d) 3T / Half
v Al SoETgE e fRaer Bfiet | a) 360
franfara frar aran g7 b) 180
4 . ©) 270
A half-moon protractor is divided into- how d) 310
many degrees? '
Y@ vd gieer & fAv sy ATE g |a) SP46
- b) BIS 41218
5 %\ 4%__@?” 4 .. .. |c) ASME Y14.2M
Bureau of Indian Standard publication for line
A d) ISO 9000
and lettering is - -7
Y & Atowg o @e,  wersty % | @) oW / Mass
6 T dar ¥ b) 3madeT / Volume
In AUTOCAD the MASSPROP command will | ¢) #fesw1 sfaz / Bounding box -
provide ____information of solid body. | d) zuierd @i / All of the above
a) SHRIGIHT a% R BN AT HIA -
o - set the layer to Defpoints
gﬁﬁmamﬁaﬁgﬁﬁﬁmﬂggb)aﬁm@ SN
Eﬁ?ﬂ, W , e FI 2@ / see the entire bounding
7 BRI ¢ T area to hatch
When filling an area with a hatch pattern in o) 3T =] H
AutoCAD, the drafter  needs to be able to ~
S set Ortho on
A d) ISO @Iz §g =t

turn ISO grid off
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9. . w9 / Question Feay fasey
Q. No | ' Answer Options
, o L a) wATA 6 Yar
GELE iR PoYar @ e Line of symmetry
8 o feeRd W & T Rar e g b) hew Y@V / Center fines
Long-dashed. dotted narrow line is used to ¢) T gecT / Pitch circles
t ? '
PR d) w5t / All the above
2) AT der S
. - TParallel straight edge
GHATE SET # Ugad 3UaUlT  F5 39HRT | b) 45 Bl Freror
9 foareTat@a aﬁr afeafag s & _ 45 degree triangle
Several of the tools used in traditional | ¢} g &Feele
draughting include the following: Circle template
' ' d) Fo0Fa gl
All of the above
Fo5eT HRWeT g ¥ R nwer | @) e / Symbol
0 s | b) ﬁa%‘r / Perspective
Welding drawings are a special type of | ©) WISt / Assembly
___ drawings? d) mEamics / Isometric
a) ey Ty / wfoer
. . ' . Vanishing point / horizon
ol HEE A, aﬁﬁwwaﬁra:b)mmﬁg ]
11 e ¥ T T S g Station point
In perspective drawings, is placed ¢) WaT TerT / R ol
between the observer and the object. . .
: Plane of projection / picture plane
_ d) q @ / Ground line
FIOF WEY T gAY ¥ A, S HOT G GAIT | @) G / Adjacent
e T wiEAfed v B E b) @Wif@q / Aligned
12 Angles project true size, only when the plane | ¢) &=ae / Perpendicular
containing the angle and plane of projection are d) waEat / Parallel
? ‘ ‘
wa 3T ET AR ST s qart #r srevad | a) verwad). / LMC
AET AEATAT 8w & T # Gefdid | b) gedA AN / Smallest size
fhar STar & ¢) arEdlass 3mAT / Actual size
13 The condition of a part when it contains the | d) vy wa.d. / MMC

least amount of material is referred to as
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7. . g9y / Question IR fased
Q. No Answer Options
AT SATAdE @efor ¥ Heffia smaw Y@r|a) &R/ Edge
faefier & r ¥ I AT S 8 b) =¥t / Corner
14 Baseline dimensions ar¢ referenced from a|c¢) Zcar / Datum
common geometric feature known ‘as a d) st Rig / Point of reference
v famy & feor vy farar Eﬁ?—f FL Eﬂﬁ a) Tadrr @r l. Dimension line
: et ganr qot & a8 T ' gt & | b) faFarer Y@r / Extension line
15 is a line terminated by artowheads, | ¢), fRefiy ¥@r / Arrowhead line
indicating . the direction and ‘extent of a d) ¥z X@r / Centerline
dimension, : '
a) s = JNgAARE aw U T
_ set the grid to isometric
y . o b) HRT 9 w3 gt o e
3ferhe A HEEARE NG AT FOT O, ) N
16 Ba lf[ l aﬁtw ﬁ 3ﬂ3@t . d@?ﬁ% . set the current layer to Defpoints
efore starting an isometric drawing in .
AutoCAD, the draughisman needs to - ¢) &g E\rq I 47
. turn Object Snap off
d) 3ttt Y 9 T
turn Ortho off
a) "ag TeHpa faET
U @y B AMAFOT FW F A0 HEAT w60 | Surface finish mark
. 5 SRIRT AT ST § b) . Fffaler et / Machining ma;k
. is used to indicate that a surface is to | ©) YUY & _
 be machined. L  Roughness indicator ‘
d) Coordinate mark / SHeaq gas -
| | @) G St
a R ' Portable documents
Aifad amwmat # fee ww gfEdet i w4 | by o e s
18 (REaE) ganTy 31@3’1?—??{ & Sl & A revision block
An accurate record of changes made to release c) IAA o Bi
drawings is tracked via The basic title form
d) sl s
Working drawings
| . a) fasfir 3mA / Dimensioned size
1 s Hr & Hi'i et I . M% b) JFcutgsT 3MHM™ / Production size
The measured size of a finished part is &) & / Basic sizo
d) areafdes 3mA / Actual size
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9. I. 92+ / Question BT fake
Q. No ' Answer Options
Uhel @iAvoley. A Alser o o ar 3R | a) s/ Add
YU IR WA &G FIFT HIEEE | b) ¥Yfetaer / Union
e A E ¢) Heraer / Attach
20 The AutoCAD command used to combine two | d) wiH / Form
or more primitive shapes into a single complex
3-dimensional modelis 7
JcHHs H, UF da F g UF NRAER | a) goie / Revolve
W@ @ RN ST WRAT ¥, deeia® | b) 3chirvr / Extrude
21 YO GERT FRAT ST gendl & ¢) 9HY / Sweep
' In AutoCAD, a ‘cylinder can be created by | d) zut=g o T RS o wE
drawing a rectangular shape, then by " none of the above
tool. . : '
5 S A . a) 9ard / material
\ ¢ S b) heg Y@ / center line
op | WIFATR wam _ o c) I VAT =T
The thread note for a typical bolt will include TR )
the major diameter of the thread
d) 3itwde gt / offset distance
a) ARSIl 3RWsT YatraT
. Project drawing management
b) 3 3T wiRETereT
04 PDM & folT Uil § Product drawing manipulation-
PDM is the acronym for c) 3G Sel VST '
' - Product data management
d) uREsen gar afares
‘ Project data manipulation
PR IR@AT TR i seffw s a) I@r WK / line type
” F AEART ST @R b) e weur / sheet number
: The title block used on working drawings | €} Rd W< / layer set
should include the d) sudierd walr / all of the above
aEJHAHF - "D AT Teww @ A | a) 24" X 36"
@ g e
25 | The measurement of architectural "D" size d) 34" X 22

paper is
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9. . g / Question Ica? ey
Q. No Answer Options
Wmﬁﬁwwaﬁmym#{ﬁ a) ¥ / Lead
giell & by e / Pitch
26 The distance a screw thread advances ax1aﬂy mn ;c) &7 / Turn
‘one turn is . d) e | Crest
|21 daft, Grer uw oer @igar @l 9By ud | a) 3.6kg
e aed o 8 Gl ¥ af wew i Aerd E)) o
1A ¥ 3 e A 8 g’ & A R A | 3 o o
X gramm '
27 A hollow iron pipe is 21 cm long and its
external diameter is 8 cm. If the thickness of the
pipe is I cm and iron weighs 8 gm/em?, then the-
weight of the pipeis - 7
i wE @ (1,5) '@ (-3,5) Wedt & & | a) die giAe / Three units
INf@E & S § o gEer BRUs e | b) 3 giae / Four units
28 Kl ¢) i Ifee / Five units
If a line is drawn between points (1,5) and (-3,5) | d) @& Ifde / One unit
then it’s absolute length is
a) &fasr 37 @ i
placed horizontally
faforse faawr e W R %crzf b) dres OwT #
29 HGIHEIRY N in bold text - o
| The text used on a typical detail sheet should be | ¢) IRTHAITH (EERITI)
. in an architectural text style
d) T A X S o ey
none of the above ‘
a) 15 3reraT 30 R
: | - 15 or 30 degrees
IGREINC I gearyaur Y@l F | b) 25 3T 30 AT
30 | FAw sreafts amead: vy FIOT BT & 25 or 30 degrees i
In oblique sketches, the most commonly used | ¢) 60 31T 90 fafaar
angles for receding lines are 60 or 90 degrees
d) 30 3rrar 45 3t

30 or 45 degrees
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gesT. / Questioﬁ

I fAdey

Answer Options

31

S frgde, Hiad, 3eET R T ST R
FfE IR T oaedH A oHeewd ¥g U
3fAFeas Fr Ie[HTCT & &

‘allows the designer to conceptualize
objects more easily without having to make
costly illustrations, modeis, or prototypes:

d)

F WErIr wred BT
Computer-aided manufacturing
HEET TEIAAT WIvd 3idewed
Computer-aided design

HOET HEAAT e JfHifEEhr
Computer-aided engineering
HTYET ETIA et NG 9o
Computer-aided prototyping

32

wF 6 3. G w4 A A O Ay e o 1
Y. 25 g, & amus o oaEl ¥ 3 waw v
Fiel g1l GHE '

A water tank 6 m long and 4 m wide contains

water up to a depth of 1 m 25 em. The total area |

of the wet surface is

a)
b)
©)
d)

-49 m*

50 m?
25 m? -
55 m”

33

mﬁﬁ.ﬁ.ﬁa&‘rgﬁ;ﬁﬁ,ﬁwﬁﬁma‘r
150 4. x 150 #. fr qfF T B § Ig
BT g

When a 5 cm of rain falls, the volume of water

| that falls on 150 m x 150 m of ground is

a)
b)
©)
d)

112.5 cum
1125 cum
11.25 cum
11250 cum

34

Achs A, wH 30 fAAL @ # s i

HNEH F S glera Yar & 3ifaw g ¥ 45
faafr & . gl

In AutoCAD, using the Relative Polar
Coordinate System to add a 30 mm line that is
45 degrees from the end point of the line
created above the drafter would

d)

@30<45 ergq H{ vg U @
type @30<45 and enter ,
30 T8 ® a0 T F I
Ted e

type 30 back slash and enter

30 TS Y BRES T & 3Wid
Tex GEId

type 30 forward sfash and enter
30 218 X wd 3 Rig @ war |
A & [T STt ey
B3T3 7 AP FGT &G G
T

type 30 and try to use the
Dynamic Input readout to find
the end point
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g / Question

3ol fadhed
Answer Options

35

W g 3ffiRey WHRT FTEOT F FT A
T OUDET TH, fRweT WRkAT &Y

FH T H Heue g Thar § 3R Ioareddar

rareil i fere[eel T Heahdl &

Using as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers. .

IFrg AAAT

Development plans

AR S HIEe

Portable document files
Fexele Ud 59
The Internet and e-mail

3@ =@r¢ / Gantt charts

36

3Terss #, mmwaﬁ&r%

mﬁwmﬁmaﬁmww'

ST T S
In AutoCAD, one quick way to view the entire
drawing area is to use the Zoom command by

typing

SHOWALL 2BY ¥+ Ul
type SHOWALL enter
72139 ik A U

type 7 enfer A enter

Z 28T Filh Tl B vex
type Z enter I enter

CALL TET wF Tel

type ALL enter

37

T S e Wl yd ARFET avg w1 Hefdd
HLAT ¥, 98 W@ wigel A G har @
AU MELIHAFHN 3= FHdr IN@A Frger H
SoTaE R ST G & grar g

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can
be inserted into any other drawing file as
needed isa

salleh / Block

fs / Brick

e[ / Balloon

SR 7 T g o

none of the above

38

wa R & wRt AT U A IR AR

cafeT v oY @ ured a0 & fAw fRr sar |

' is a conical- shaped recess around a
hole often used to receive a tapered screw
head.

a1 / Boss

wie-%d [ Spot-face

ufdr fafol / Counter-bore
gfer 14T / Countersink

39

TF A i wddrs vd e & d @ AaT 23
AT ¥ A swer ofmm 206 A @, A e

e gl

The difference between the length and breadth
of a rectangle is 23 m. If its perimeter is 206 m,
then its area is

a)

c)
d)

1520 m?
2420 m?
2480 m? .
2520 m?
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T, W 995t / Question e ey
Q. No Answer Obtions
Ua selle &l Gofel il HAT JNEFH I 3R | a) T / Scale
g, Tafad & oy fafine eae &1 95 | b) Eltjﬁ?f IO / rotation angle
40 | & @uifE g foreffta sear & ¢) T fd=g / insertion point
When creating a block the drafter needs to pay | d) aof / color
particular aftention to selecting a base point
because it determines the
aaEl ¥ a9t @ siEy ¥ v ST a) faamsrer / Divider -
4 | o S . b) ¥Ar / Scale
is used to check the squareness of | ©) et / Trysquare
surfaces. 3 d) waganier / Surfacgauge
a) 3 wF / forward stroke
b) aradly w2l / return stroke
g | & g o1 B AR ST & | o) d=t 319 vd aroey TekE
A file removes the metal during both forward and return strokes
d) 3Fa T T F% ofr oAt
none of these
ASHIANT, HieIUT, Swrel Wl 6T TURAr &I | a) Gl W / feeler gauge
_ SdRT e ¥ @ whar § by wdt I1iar / slip gauge
43 The accuracy of micrometers, calipers, dial ¢) T IS / 1ing gauge
indicators can be checked by a d) ceRr aitet / plug gauge
TE HET & fAee # wfawdar 9fy o, ufy [a) 40%
U Ul WIS B 20% aamméaﬁr%ﬁ E’)) o
“ € § S d) 46%
_ The percentage increase in the area of a ‘
rectangle, if each of its sides is increased by
20% is
a) AEdidE A F TF WG
one side of the actual size
T WAl & gfauned yomel #H, T | b) AT AT F TR THE
45 | TEST &l 3{@3:[% & ST & one side of the nominal size
In a bilateral system of tolerance, the tolerance | ¢) (e AT & )&l a®
is allowed on ' both sides of the actual size
d) Wl AT & AT auw

both sides of the nominal size
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10%) (5 x 10°), the result is

9. . yesl / Question  3cad fdeed
Q. No Answer Options
| HG TEAA FT FEA b HA A, Fagrer W wcda | a) 30°
o [ ot b
.| In order to cut mild steel, the cutting angle of d) 60°
chiscl should be
a) SIS I AT FAET
_ . ' : Strengthen the joint
. F@ . F fav Rafea st 9w | b) weldd # faerer A
47 gi=y e vd wide feearifad frar omar & Avoid tearing of plates
- | Caulking and fuIlermg is performed on riveted | ¢) &TT et
1oints to Prevent leakage
d) 3WRIEFT wHr
All of the above
a) 3ol Td IEEIe
| oxygen and hydrogen ‘
b) 3edeH, gEgee, THifealT o
f§ffesr g & doad A ELES] EIRi ATSeraTeT
4g | P EfFEAfAT w4 oxygen, hydrogen, acetylene and
The gases used in different types of welding | - nitrogen .
would include . ¢} 3iterdiare, dHifeels ud et
oxygen, acetylone and argon
Q) sifedioer wd v
oxygen and acetylene
a) Awse [ Graphite
40 ' & Al b) fafemmie / Silicon
l%?! Whl(}h of the foilowmg is used in 9 . el / Charcoal
penels’ d) ®ITHRE / Phosphorous
T ot 25 Hielar, 120 s wd 6 90 g §1 | a) Rs. 4560
=T SRt TS e HET ¥ oorde wRT & av b)) ﬁs‘iggg
_ - ) ¢) Rs.
s | o a9 AL 7S v g o glarr d) Rs. 5680
A tank is 25 m long, 12 m wide and 6 m deep.
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is _
S g &) et # aer Fw5@, (6% 10%) (5 x | @) 3><10"8
10%), afomy gram b) 30 x 10
31 When these two numbers are multiplied, (6 % c) 300 10
Xy Huphied, d) 3000 x 107
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9. 9. g2l / Question I fawedT
Q. No Answer Options
a) TATEY I ATar
viscosity of ink
SATFEAT YT GdRT 1G] T HFwor b)m?u%?qﬁﬁm
o capillary action phenomenon
| the  absorpt ' £k by bloting paper | O o A T T
ne absorption of Ink by DIOWNE - paper diffusion of ink through the
involves . .
blotting
d) aEwd fhar
‘ siphon action
afy 3T 30 Wt F w400 W T ufFT @ |a) 13kWh
ERIE A e fowerr | ) 13.3kWh
P E, o e ¢) 12 kWh
53 | @mm - | d) 12.3%wh
If you used 400 W of power for 30 hours, you :
have used :
- a) HB
54 forAfaf@d # ¥ &9 71 9f70d o8 soar g2 1b)y H
Which of the following pencil lead is hardest? [c) B
- d) F
a) WA U F AT g
| - the heating effect of current alone
by AT AT wry
qBd STEHIAT H = T g8 T hysteresis loss alone
55 |@arE c) &l URT F AT YT vd
The heating of the large transformer is due to AMieT 7w
' both the heating effect of current
and hysteresis loss
d) AvAEsr #H g FRTHT
intense sunlight at noon
HOR ST H Hg el ¥ FIFA e 9 | 4 FIET / Carburizing
grneT e & : b) yHIAEENSIOT / Normalizing
56 —_— ' .
The heat treatment process used for softening | ©) 3ellelsT / Annealing
hardened steel is d) g¥erst / Tempering
' : o a) dider / Brass
5 =, feeT, ol & ﬁmm. g — RE € b) wig / Bronze
An alloy of copper, ltm and zine is known as ¢) T €T / Gun metal

d)

Nuntz & / Nuntz metal
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7. 4. g2 / Question EILGE T
Q. No Answer Options -
a) oAt & 3NfET farar o wewar §
can be drawn into wires
b) 3 U H Fcle T Hhl §
_ A can cut another metal '
| Forar ww wErEt @ Fur it § Gk aelg @ c)a%qwmrzﬁfawa%mm
sg |¥ | Ry
The hardness is the property of a material due breaks with little pcrmanent
to which it distortion
d) CI?IF?r Xt A a‘rcf 3rmEr gﬁﬁa
ART ST Hhal §
can be rolled or hammered into
thin sheets
oF ey 7 ?Iamﬂﬁ‘ former asig @ 9g HIA9Z | a) $HIRAT / Brittleness
Tarlr fATI0T & W Her glar & # b) dewrar / Ductility
FES B ¢) FrEncaeddar / Malleability
59 The property of ‘a material due to which it d) cenf®eesrar / Plasticity
breaks with little permanent distortion, is called :
. a) gl / Henries
60 gl & A R ST b)aiim[/Ohms
.| Resistance is measured in ¢) dle / Watts
S d) drec / Volis
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T, g 2T / Question IcaX Tahed
Q. No Answer Options
) : . a) mafafy & w@r
dar 3w fawgfea @O @ @ gEe Line of symmetry
1 _ . foreRd Wt & forw fhar sar & b) Feg @ / Center lines
Long-dashed dotted narrow line is used to o) T geat / Pitch circles
vepresent 7 - d) 3w @i / All the above
dosa smE gR ¥ Rfre s | 2) e / Symbol
5 o & ‘ b) @ge / Perspective
Welding drawings are a special type of|¢) it / Assembly
_ drawings? d) F=aHAfes / Isometric
4) TAECGR Yl 817
' ' : Parallel straight edge
IRONE TRET 7 TIFd 3THUT F F5 307 | by 45 &l By
3 ffaTaa & aFAfad #:d & 45 degree triangle
Several of the tools used in ftraditional | €) Tel TFoIT
draughting include the following: Circle template
d) IUiwd "
All of the above
wvs #, g # uE  aadier | gftear / Revolved
, | PrRE R e il ' 7 b) fRTRRT -/ Removed
In section, one quarter of the | ©) E‘—{Fﬁﬁr / Quarter
object is removed? ' d) 3 / Half
: a) J[ocl S&0T / hidden feature
T d9T oS, ag BN, ud UE R oar @us | b) gecf F hew / center of a circle
s afgd 3mfT Y@ BT & c) IO IHA F Frg 3HaT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) Fear &1 Seg
center of a radius
a) SWidga TF A FF T HLEAT
" . set the layer to Defpoints
H@%ﬁﬁ-@ﬁﬁﬁﬁ%ﬁﬂwﬁ by aftr e A wHaT T s
W W, T REE A R & 8 / sce the entire bounding
6 BT gl =fee area to hatch
When filling an area with a hatch pattern in ¢) HAT FY =re B
AutoCAD, the drafter needs to be able to »
: set Ortho on
' d) IS0 fis §g =¥
turn ISO grid off
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7. §. 92 / Question 3l Ao
Q. No Answer Options
@ vd THaRer & AT aRd™E Aee gEReE | a) SP 46
=Ry #rar ¥ b) BIS 41218
7 " —
Bureau of Indian Standard publication for line 3 %%1\49](3)(%14'21\4
and lettering is ?
Te WYl HUANE @ fhaar BRRE d | a) 360
TS e b) 180
g (1 R &7 e ¢) 270
A half-moon protractor is divided into how
d) 310
many degrees?
dfedhe &, @#fowm @A, wAela & | @) #edee / Mass
In AUTOCAD the MASSPROP command will | ¢ Sifes=sT &fed / Bounding box
provide information of solid body. | d) 39T §r / All of the above
der ufaeget qaRT uw @eq & oweg & a) dFehlfole / Orthographic
10 ' FEa § b) Hed/Perspective
Projection of an object by three views is known | ©) 3MSaIACS / Isomatric
as ? d) fad= / Oblique
AT SAAC ETUr W WefHd U YW a) SR/ Bdge
faaig =t 59 F HT I § b) T / Corner
1 Baseline dimensions are referenced from a|¢) 8e& / Datum
common ~ geometric feature known as a d) dest fiig / Point of reference
e FAcEd e dge & @ 41 3w | a) SF / Add
Ride HHERT F WS g GgFd HEds | b) giAge / Union
e giar & ¢) weee / Attach
12 The AutoCAD command used to combine two | d) wi& / Form
or more primitive shapes into a single complex
3-dimensional model is ?
a) T3 & MSAREE OF 9 S
set the grid to isometric _
VI a 5w W 98 b) oRT W ¥ 3F fégit dw de
3”3“”@‘ o ! FLAT
13 'Bai ft S EﬁtT ﬁ mi . dﬁ?—ﬁ _% , ~ set the current layer to Defpoints
: efore starting an isometric drawing in .
AutoCAD, the draughtsman needs to ¢) =g g}'q I 5
turn Object Snap off
dy 3t & d¢ wer
tarn Ortho off
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T H. g9 / Question 3eat faeey
Q. No Answer Options
a) ey fog / f@fos
Hedl et #, W UEH T 9] S b ;1?;51’1%}; point / horizon
14 | weia TR S & Station point
In perspective drawings, is placed ¢) WY SoteT / fRrT celeT
between the observer and the object. Lo .
Plane of projection / picture plane
d) & Y@r / Ground line
U e & FRufa a9 sud werd & seudd | &) wawadl / LMC
AT WIEATAT & F % 39 # WafdiaT | b) ~geAcH A / Smallest size
ToRaT STar & ¢) darFdfae AT / Actual size
15 The condition of a part when it contains the dy waEHd. / MMC
least amount of material is referred to as :
a) Yaley q¥dadsl
Portable documents
At @t & fre oaw oftadst 6 88 | b) T Welee seis
16 e ' CGIR 3@3%3 fr aar & A revision block
An accurate record of changes made to release | ©) 3T Iy @
drawings is tracked via The basic title form
d) HRERT 3MEA
Working drawings
0T FEr AT Ul § A, SI9 HOT Ud Y& | a) He / Adjacent
ol ¥ girafaa o FaE b) @ / Aligned
17 | Angles project true size, only when the plane | ¢) oigad / Perpendicular
containing the angle and plane of projection are d) waTeaT / Parallel
? .
T faar i foen vd FREIR gRd 9REe aer | a) @ W@r / Dimension line
hreefit garr ot &r o Y ger & | b) Twaror Wr / Extension line
18 is a line terminated by arrowheads, | ¢} &Reff ¥@r / Arrowhead line
h}dicatipg the direction and extent of a d) %=z @ / Centerline
dimension.
a) §ag UReHd e
UF Feig T AT Fd F AT giRd F Surface finish mark
9 |8 SR R S ¥ b) #MAT e / Machining mark
is used to indicate that a surface is to | €} GI&UHT HI& .
be machined. Roughness indicator
d) Coordinate mark / TH=aT FIw
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ues / Question

3cd] [aFeu

Answer Options

20

afsge sirer @7 AT 3 g &

The measured size of a finished part is

2)
b)

fader 3memg / Dimensioned size

“FUIEA HTATG / Production size

Hel AT / Basic size
aredfas AT / Actual size

21

21 |3, T UR o4l W™l @i 9By uE
=HFr Sl oo § Haf. {1 afy usy fr A
1 &4 & 3R olg e 8 gvern® ¥ &Y uisT AT
HRX gram

A hollow iron pipe is 21 cm long and its
external diameter is 8 cm. If the thickness of the
pipe is 1 cm and iron weighs 8 gm/cm®, then the
weight of the pipe is ?

3.6kg
36 kg
36.9 kg
3.696 kg

22

ECILGEEIGED

"D" AT Yo  H AN

gy

The measurement of architectural "D" size
paper is

)

a)
b)

1o

d)

24" X 36"
[8" X 24"
"X 17
34n X 22"

23

FIRRT IR 7 ygad O salw
# wfEAfd e AR

The ftitle block used on working drawings
should include the

@r &R/ line type

ofie &aT / sheet number
T He / layer set

IR T / all of the above

24

3iferhs ﬁ,WWHW-WW‘

INET gEa R e w@eRar §, T R
3YHIUT AT fohdT ST Thar &

In AutoCAD, a cylinder can be created by

drawing a rectangular shape, then by

tool.

goid / Revolve

3CANOT / Extrude

THd / Sweep

IRFT H § Fi5 o) 7@

none of the above

25

Rftse der & fow =@ A #

wiFafaa s

The thread note for a typical bolt will include
the

aerdl / material

sheg, YT / center line

g B GHE A

major diameter of the thread

IHHE gl / offset distance

26

G gegyaur @R &
forw At aPeaa: TgFT w07 8 §

In oblique sketches, the most commonly used
angles for receding lines are

15 3veyar 30 3ot
15 or 30 degrees

25 3rerar 30 fafemt
25 or 30 degrees
60 37ar 90 BT
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T. 9. g2 / Question Il faFed
Q. No Answer Options
60 or 90 degrees
d) 30 3rar 45 fafit:
30 or 45 degrees
I wF Y@ (15) v (-3,5) Feut & = |a) e g / Three units
yRf@a & arar & o s@dr fder @erg | b) 9w gide / Four units
27 1 grefr ¢) i Igfae / Five units
If a line is drawn between points (1,5) and (-3,5) | d) T& JfA< / One unit
then it’s absolute length is
a) IR IR UEUs
Project drawing management
b) 3curg 3@ IRt
28 PDM & fOT whilaA § Product drawing manipulation
PDM is the acronym for ¢) IcUIG BCF Y
: - Product data management
d) aR&EaT ger afErasT
Project data manipulation
T SN A TR T S Seeld 3w @ gt | a) @w / Lead
Gk ' b) &% / Pitch
29 The distance a screw thread advances axially in | ¢) &= / Tumn
one turn 18 d) #Fe / Crest
1 a) &faS 3§ T
placed horizontally
faftse Raxor ofe = vy faww b) dres fawer 7
30 BT AT in bold text
The text used on a typical detail sheet should be | ¢) FRIHeIlcHS vy o A
in an architectural text style
d) IR F F B o AT
none of the above
U 3T T FE vd T & & @7 siaw 23 [ a) 1520 m?
H. ¥ Tl sgEr g 206 L §, o gEe b) 24201“2
S ¢) 2480 m
P L ' d) 2520 m?
The difference between the length and breadth

of a rectangle is 23 m. Ifits perimeter is 206 m,
then its area is__
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g2t / Question

EGRSCETS
Answer Options

32

aasﬁ.m.ﬁaq‘rgﬁ?ﬁ%,trﬁﬁwmaﬁﬁ
150 &1 x 150 #. dr  ofF W f@Rar § @8
grar &

When a 5 cm of rain falls, the volume of water
that falls on 150 m x 150 m of ground is

a)
b)
©)
d)

112.5 cum
1125 cum
11.25 cum
11250 cum

33

O U9 AfAFed TR ITROT FO¥q A
T AT Hlh, AHHFT diwar H

FH B W HEH B Thal § 3R IcIEHhdr

Rt Y faeed HT R §

Using as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

aerg gie=e
Development plans
GaTed axdidsl Bige
Portable document files
Seteic U9 A

The Internet and e-mail
3 a1 / Gantt charts

34

Afehs #, CHUT GaNT FH IEYT F
TART ¥ THT NG 8Fhd F @A H TH
Sog T § '

In AutoCAD, one quick way to view the entire
drawing area is to use the Zoom command by

typing

SHOWALL 289 & Ued -
type SHOWALL enter

7 TE9 & A Tl

type 7 enter A enter

Z TR e UK B X
type 7 enter E enfer

ALL 289 a¥& U

type ALL enter

35

ks A, uw 30 B Wr s s gg
Fmafgres gdrg GEAGT UOTel FT GEET Fdh S
INEF & F Giad Wer & Ada fig 4 45
fefrg  @mm

In AutoCAD, using the Relative Polar
Coordinate System to add a 30 mm line that is
45 degrees froim the. end point of the Jine
created above the drafter would

d)

@30<45 2139 +{ Ud Ul gand
type @30<45 and enter :
30 TBY F dF T F 39UA
T gy

type 30 back slash and enter

30 €189 Y BRAS T F IWA
type 30 forward slash and enter
30 BT L A 3ifce f&g & war
T % T eRefaE s
{EHT3E T 9T FL & TIE
1

type 30 and try to use the
Dynamic Input readout to find
the end point
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< 4

g% / Question

GIT3Ad iaal("q

Answer Options

36

TR 6 AL o T 4 A @iy ol v S 7 ]
Hr 25 Tl fr g 7 g §1 3% Tdg @
T TR g |

A water tank 6 m long and 4 m wide contains

water up to a depth of 1 m 25 cm. The total area
of the wet surface is ‘

a)
b)
c)
d)

N

49 m
50 m
25 m
55m

S-S R S

37

frocl e, Aige, rmar anfy gev wanw faem
HiOF FEET @ aEgI dT FFeH ¥ U
e At &ar §

allows the designer to conceptualize

objects more easily without having to make
costly illustrations, models, or prototypes:

HTIET HEAT el T ATor
Computer-aided manufacturing
HCYET HETTT Aol HfHehed
Computer-aided design

HOYET eI Yo AR
Computer-aided engineering
HOYET HEHEAT TI°d 3T 9%9
Computer-aided prototyping

38

Uw 3iferbs ed S qF ANFAT awg F HefHa
Lt & 0 3mws wiswr A wualRa B §

qA HEATFAFER 350 Tl 3Ea g # |

gaHE foRar o Hahar & gie &

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can
be inserted into any other drawing file as
needed is a

sdTd / Block

9% / Brick

&l / Balloon

Ied A ¥ Fg T TET

none of the above

39

UF el BT Yool Hlad AT REH H AR
forg wafdd s waw RS eI & gsar
When creating a block the drafter needs to pay

particular attention to selecting a base point
because it determines the

$ATAT / Scale

ol 10T / rotation angle
feders fawg / insertion point
gut / color

40

T Bg & g AT TR Rl IR @ RS
 gar & W e v uw
el & Y i ucd w0 & v fer S
%. . .

' is a conical-shaped recess around a

hole, often used to receive a tapered screw
head.

d)

&9 / Boss

T / Spot-face

gfa f@fewelr / Counter-bore
gfa gidr / Countersink
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q. . e / Question Fel Tashed
Q. No Answer Options
AG TG F Fea F B A, el F e | a) 30°
g1 [P B e E)) i
In order to cut mild steel, the cutting angle of d) 60°
chisel should be
SRt 54 a) dwET / Graphite
0 b) f&fasReT / Silicon
ST 1@"?1 Whlch of the followmg is used in o) N / Charcoal
benelis d) wIERRE / Phosphorous
a) TGS 3THT & TH THF
_ one side of the actual size
TH WEIdl F gfaured gumelr &, W | b) AT IET F UF RE
43 HEAT FF AT & Sl & one side of the nominal size
Tn a bilateral system of toletance, the tolerance | ©) FFATdH AT & il TIw
is allowed on both sides of the actual size
d) AR 3TAT F e RE
both sides of the nominal size
AT, HAW, S THFSR T gurdar 1 [ a) T e / feeler gauge
Farer Sitg T S gehar § b) wdf aifet / slip gauge
44 The accuracy of micrometers, calipers, dial | ¢) gerer a17sT / ring gauge
indicators can be checked by a 1+ d) wenT Wi / plug gauge
TH WA 4k &Amd H odfaudar g A, ofg | a) 40%
0
TP YAF TEE F 20% GanT de1s Sal & ar E)) jﬁ;’
5 |——— TTE d) 46%
The percentage increase in the area of a
rectangle, if each of its sides is increased by
20% is
a) Jfeiee wa FERee
oxygen and hydrogen
7 b) sifeeirer, erégie, SRhfeda Td
faffiesr g & desa # gyFd I CETarcr]
46 | AT HE oxygen, hydrogen, acciylene and
The gases used in different types of welding nitrogen
would include c) itadiewr, vEifeels vg 3w
oxygen, acetylene and argon
d) 3ierdisit vd wehfeela

oxygen and acetylene
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9. . 92T / Question 3ca ddheq
Q. No Answer Options
TaEt ¥ @t @ oy ¥ B e | @) 9% / Divider
7 | o T ‘ N b) HAET / Scale
is used to check the squareness of | ©) grgadt / Trysquare
surfaces. d) @dgamer / Surfacgauge
uF Y 25 e, 12 30, e vd 6 ot wrewr &1 | a) Rs. 4560
SO QaRt W e T & e e an g | D) Re 4980
45 |9 LS T & a9 Ry sess
A tank is 25 m long, 12 m wide and 6 m deep.
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is
a) Sig I FHalgd Fellell
' ‘ Strengthen the joint
- we % far fEfed Sigh W | b) toel @ REReT Jed
49 iR v wae fasafag far aar & Avoid tearing of plates
Caulking and fullering is performed on riveted | ©) &ROT el
joints to Prevent leakage
d) 39ed |
All of the above
a) 3 €eiF / forward stroke
b) aodT ¥ele / return stroke
sq | T F el urg B e S ¥ | o) et ser od e B
A file removes the metal during both forward and return strokes
dy 39 & ¥ S5 o 7
nene of these
a) HB
51 fRrafeifiad # & @le o1 ofwe 95 FoRaT §2 | b) H
Which of the following pencil lead is hardest? |c¢) B
d) F
' a) dide / Brass
sy il:r’a;?:r’ T o ﬁ&r"?ﬂ?j aj ___?Eb??’f g b) @ / Bronze
v of copper, tin and zme is known as ¢) g / Gun metal
d) Nuntz @1 / Nuntz metal
a) TIET I >Glear
ST 9O GERT TG 1 HGmor viscosity of ink
53 | AT T & | b) HRPRT AT e
The absorption of ink by blotting paper capillary action phenomenon
involves . C) SANTEI o gait TIET  faator

diffusion of ink through the
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w97 / Question

IeaR adeT

Answer Options

d)

- blotting

e forar

siphon action

54

FERAT U U #T qur e ¥ FAwd aoig @

Tw® o
The hardness is the property of a material due
to which it .

d)

dg3t # FNTAS frar ST weher §
can be drawn into wires

3T T F Fclel BT ThAT &
can cut another metal

WWWE‘FW'W
g ¥

breaks with little permanent
distortion

Ul Wl 7 de sryar goier
HART ST Hhal &

" can be rolled or hammered into

thin sheets

35

3 U AT RRaT S ¥

Resistance is measured in

gy / Henries

- 37 / Ohms

aie [/ Watls
gree / Volts

56

| 9B ST @ A

T Felg
grar &

The heating of the large transformer is due to

AT YIRT sl d9e0 91T
the heating effect of current alone
A ey g

hysteresis loss alone
glel URT T Jr9e gaa ud
Ao grw

both the heating effect of current
and hysteresis loss

HedEd A g woehrer

intense sunlight at noon

57

FON ST I 7g @ell=t & T gl 3UAR
gfsram arer &

The heat treatment process used for softening
hardened steel is

ST / Carburizing
JHTHTRIYT / Normalizing
3fsilele / Annealing
G / Tempering

58

e werd 7 Aol e g @ ag s
TarRl f@eqor & @Y HAT gar & @
FEd ©

The property of a material due to which it

breaks with little permanent distortion, is called

d)

31'?_]3FIT { Brittleness
d=adrt / Ductility
FTEndaedar / Malleability
CATESHAr / Plasticity
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9. ¥, 99 / Question 3ot fasFeq
Q. No Answer Options
o9 5T & HeanHt & Ao HA, (6 % 10%) (5 % | a) 3><1088
59 § —— & . ¢) 300 x 10°
When these two numbers are multiplied, (6 x| 7
3 5 . } 3000 x 10
10%) (5 = 10°), the result is .
afy w30 Heh ¥ @ 400 W Hr ufda @ |a) 13kWh
- 3 ATy ' gair ey | D) 133 kWh
.?)T?f e - c) 12kWh
60 | @ d) 12.3 kWh

If you used 400 W of power for 30 hours, you
have used .
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. . g% / Question I AFeq
Q. No Answer Options
(e wfaweet g &g & WY Bl |a) F&@HIO0E / Orthographic
. HFEA B _ b) Ted/Perspective
1 Projection of an object by three views is known | ¢) 3ms@/afe® / Isomatric
s 7 d) fads / Oblique
W vd gAEor & AU SR AE T | 2) SP 46
a:ls’r gar & b) BIS 41218
2 Bureau of Indian Standard publication for Iine | ©) ASME Y142M
and lettering is ? d) ISO 9000
dosd R v & fafdree amwer | @) @ / Symbol
3 SCh : b) w&dr / Perspective
Welding drawings are a special type of |€) HIVSHT / Assembly
drawings? d) smedEAfeF / Isometric
sifethe #, #AfgaT  FA,  OaSg % &) GEIAH / Mass
In AUTOCAD the MASSPROP command will | ¢} @feser dfew / Bounding box
provide information of solid body. | d) Z9tad wafr / All of the above
. , | o) wAfAfT H
asr S faegfad w9 WA ~ Line of symmetry
5 _ foefia o & for R s b) =g (@W / Center lines
Long—da:hcd dotte(j narrow line is used to ¢) fr g / Pitch clirbles.
represemt ! d) 3T @it 7 All the above
TFH YTl HIUHETE H fhgelr BT #F[a) 360
¢ | Taeaa femam wram g2 b) 180
o c) 270
A half-moon protractor is divided into how
! d) 310
many degrees?
@wus # avg @ uF aqeter | @ R /Revolved
. e T e b) fawsRa / Removed
In section, one quarter of the | €) TGHTY / Quarter
object is removed? d) 3 / Half
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7. . 9957 / Question IR [aew
Q. No Answer Options
a) SHidgl TF W P T HAT
u C e set the layer to Defpoints
mﬁw-wﬁﬁﬁﬁmﬁmﬁb)ﬁqmﬁmmm
|, TR NEE W F F & / see the entire bounding
8 T gletr =fgw area to hatch
When filling an arca with a hatch pattern in o) AT F e FE
AutoCAD, the drafter needs to be able to
set Ortho on
‘ d) 1SO firs dg +¢
turn ISO grid off
a) Iod &0l / hidden feature
TE AT @Us, oY 39, g us R w@r @us | b) Jed F dhen / center of a circle
g | fed M@ @ gl & ¢) I T H Foq HAT
A line drawn with a long section, short dash, center axis of a hidden cylinder
and another long section is a d) B & g
' center of a radius
a) FAGET 9T B
Parallel] straight edge
TRUNE TR F TYad TR F Fg 3907 | b) 45 Bl fapor
10 feerafaa o afeafoa w3 & 45 degree trigmgle
Several of the tools used in traditional | ©) del Feele
draughting include the following: Circle template
d) IS |8
4 All of the above
TR e 4 fgar vd fAvar §fad &t arel | a) fae 3@r / Dimension line
At gar et & 78 Y BT & | b) T9&aRor 3@ / Extension line
11 is a line terminated by arrowheads, | ¢} TR Y@ / Arrowhead line
indicatipg the direction and extent of a d) ¥z Y@ / Centerline
dimension.
a) GAET SEAET
Portable documents
mfea @Al # fFr v oRadst fr o6l | b) UE wAYe sdle
1 | RS gan 3Eafda # ol § A revision block
An accurate record of changes made to release | ©) A Sy i
drawings is tracked via The basic title form
| d) FEHAT 3@
Working drawings
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DM 01 (Draughtsman Mechanical) : Series — D

9. 4. g2 / Question EIGEMCE T
Q. No Answer Options
' a) Ta#A™ 3TAT / Dimensioned size
03 ROSef &1 “.i Td 3T —_— m% b) 3c9EE AT / Production size
The measured size of a finished part is ¢) T AT / Basic size
d) srFafd® 3TAT / Actual size
8) 15 3 FEEHRE aF Je FwT
set the grid to isometric
o . . | D) UrT W & 2% gt g% dc
IMeThs & MEHIART ANTT 3T F& A I, ) e
14 BEHI f[ aF I - ﬁ 3R ) ;ﬁ ,% . set the current layer to Defpoints
efore starting an 1sometric drawing in ¢) TET T T GF T
AutoCAD, the draughtsman needs to s
: - turn Object Snap off
d) 3l = g FET
turn Ortho off
- a) Tdg YRSpd FHeaT
Teh Tag & JRiEaxer s & fav qq‘j%ﬁ w1y | Surface finish mark .
s |8 ST Rt S ¥ by weffder Rear / Machining mark
is used to indicate that a surface is to | ¢} GWEUIH Fah
be machined. Roughness indicator
d) Coordinate mark / GHeaT He
TATT SAMAGT o80T § Wefdia 3R ¥@r | a) &1 / Bdge
: AT &t 9 H ST ST § b) e / Corner
16 Baseline dimensions are referenced from a ¢} e / Datum
common geometric feature known as a d) desk ﬁ% / Point of reference
a) e g / fafas
. - . Vanishi int / hori
weah et &, S g | g;};f%gpom oron
17 I Frfe .i RRIT ST § ) Station point
In perspective drawings, s placed ¢) WaIT Taet / o i
between the observer and the object. : Pl I .
ane of projection / picture plane
d) & ¥@r / Ground line
T AT BT dew & @ @ 3w a) s/ Add
WA AR & WIS 3G SgFT HIHRS | b) e / Union
HIEET gar & ¢) e / Attach
18 The AutoCAD command used to combine two d) ®1# / Form

or more primitive shapes into a single complex
3-dimensional model is ?
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DM 01 (Draughtsman Mechanical) : Series — D

9. . w2 / Question Feat fraew
Q. No Answer Options
T o f Rufy o9 s gard 7 sewad |a) wewEdn / LMC
AT wiEAfad o #7 % T9 & Wl | b) TgFAH AT / Smallest size
forar omar § , ¢) arEdiges AT / Actual size
19 The condition of a part when it contains the | d) waTadL / MMC
least amount of material is referred to as :
IO TEY AT EMT § AA, I T Td JAIT | @) HAeT / Adjacent
ToleT & UTEATS Tolet gl b) @& / Aligned
20 | Angles project true size, only when the plane | ¢) deaa / Perpendicular
containing the angle and plane of projection are ) wEweR / Parallel
9 :
uF I UH T gY Ieeid i H gl | a) @/ Lead
g ¥ ' ' b) fra / Pitch
21 The distance a screw thread advances axially in | ¢) @t / Tum
one turn 1s d) #¥e / Crest
Frwdr INEAT 7 ygEa A seldw a) W ¥R / line type
| F TR FEr TR b) effc @& / sheet number
The title block used on working drawings | ©) e HT / layer set
should include the d) 3WRaEa T@er / all of the above
afy wm @ (1,5) wd (:3,5) fgat & | ) e Ifeie / Three units
INFRT H orar § O gEdhr TR &€ | b) IR gfaAe / Four units
23 gifr _ ¢) 9 If=T / Five units
If a line is drawn between points (1,5) and {-3,5) | d) w Yfeie / One unit
then it’s absolute length is _
a) YRASAT IRGA YT
Project drawing management
_ b) BTG HREF TR
o4 PDM ' ¥ fow weifaw € Product drawing manipulation
PDM is the acronym for ¢) 3G BT geye

Product data management
d) oS Ser afEnes

Project data manipulation
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g. 9. 92 / Question el Fed
Q. No Answer Options
s &, wF IqT H P UF TSR | a) guleT / Revolve
FNEH @R FHA ST @R ¥, a@Haw | b) 3eEROT / Extrude
25 3UHIT G@RT fRAT ST WHEATE | o) wHT / Sweep
In AutoCAD, a cylinder can be created by | d) sudieg & & 15 sff =8t
-{ drawing a rectangular shape, then by none of the above
tool.
FEJHRATCAS "D AT Ued  wr HGer | &) 24" X 36"
@ o 11X 17
26 The measurement of architectural "D" size d) 347X 22"
paper is
a) &ifas 30 & wanfa
placed horizontally
fafee faaor ol w ggaq foww b) deg vy &
27 RGIRGITY in bold text o
The text used on a typical detail sheet should be | ©) IEGPellcA faug &1 7
: in an architectural text style
dy 3ul=d # q +g off 7t
none of the above
a) Terd / material
@Ree dlec & fov g A W b) g Y@ / center line
2 m hraj?Tr for a typical bolt will include | & %, 7 3¢ S
- ¢ threa n.ote or a typical bolt will include rr}Jajor diameter of the thread
d) 3wde g1 / offset distance
a) 15 3rear 30 Rt
15 or 30 degrees
s st A, 9IIYauT @A & | b) 25 3rar 30 RRfagt
ng | TNT Scaft wrA=aa: e Hor @y § 25 or 30 degrees
In oblique sketches, the most commonly used | ©) 60 3ar 90 It
angles for receding lines are 60 or 90 degrees
d) 30 3rar 45 fefa=r

30 or 45 degrees
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DM 01 (Draughtsman Mechanical} : Series — D

92T / Question

e faseq
Answer Options

30

21 #.3r. arer TH &@ar @@ar dig T8y ud
ST SRl wrg § WAl ¥ 3y urgw fr A
1 & & 3 g o 8 gm/em’® & A 9sw
gX__ ®Emw , .

A hollow iron pipe is 21 cm long and its
external diameter is 8 cm. If the thickness of the

pipe is 1 cm and iron weighs 8 gm/cm?, then the
weight of the pipe is ?

a)
b)
c)
d)

3.6kg
36 kg
36.9 kg
3.696 kg

31

sk 1, s 30 @A Y@ W oS ig

STITRF GET WEET YO F ST B S

INTF & FR god Far & sifasr &g @ 45
foalr & e
In AutoCAD, wusing the Relative Polar

Coordinate System to add a 30 mm line that is
45 degrees from the end point of the line

| ¢created above the drafter would

d)

@30<45 22T ® Td UeT ga
type @30<45 and enter

30 2ST S dF T F 39U
UeT gy

type 30 back slash and enter

30 TET Y PRYS TAA & 39T
Tex gaw

type 30 forward slash and enter
30 ersy Y U9 A g wr ver
A F AT seAS gage
{rE3mse &1 99T 4 8 A
-ﬁ .

type 30 and try to use the
Dynamic Input readout to find

* the end point

32

we 3Mer¥s usg o OF ARG avg B Heldd
I ¢, O smEa wEd § gufdd @ ¥
AU HEIHATAN 3 Fhell IR Frged A
SAGE FRaT ST EehaT & _ETE

An AutoCAD term that refers to a pre-drawn
object which is stored in a drawing file and can
be inserted into any other drawing file as
needed is a

sdlies / Block

fg& / Brick

e / Balloon

3q0Fd § § FIs o FET

none of the above

33

U 6 AL e Ud 4 AN S ol fr oA 1
#r. 25 gAL # TEUs & ger § g udg &
T 4R e

A water tank 6 m long and 4 m wide contains

water up to a depth of 1 m 25 cm. The total area
of the wet surface is

a)
b)
€)
d)

(=]

49 m
50 m
25 m
55 m

SR )
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92 / Question

IcadX AFeT

Answer Options

34

TF sl B G HGT THT IRNGH H IR

| Reg =afae w=a waw fafee @ a7 gsar

¥ Faitr a8 iR wear &

When creating a block the drafter needs to pay
particular attention to selecting a base point
because it determines the

a)
b)
c)
d)

41T / Scale

guls T / rotation angle
e fawg / insertion point
goT / color

35

UF I T 915 U9 @igls & &= &1 a7 23
Ar. &1 Tfe gaer aiAmw 206 o &, @ s@er
e LTl g ‘

The difference between the length and breadth

of a rectangle is 23 m. If its perimeter is 206 m,
then its area is

a)
b)
©)
d)

™~

1520 m
2420 m
2480 m
2520 m

SIS RS )

16

! sfteree

THUT ZANT FH HEA
R W FAT FNEA ST%d Fl. W@ FT TH
STog alrer &

In AutoCAD, one quick way to view the entire
drawing area is to use the Zoom command by

typing

SHOWALL 219 =& wex
type SHOWALL enter
7,289 a3 A TeX

type Z enter A enter

Z2ET F:FH UK E T
type Z enter E enter

ALL TEI FF X

type ALL enter

37

s B F IR 3R T awed e @ Raw
_ ®ar & fuer el yEner wh
IR g MY A owed F F v Reem sen

3

is a conical-shaped recess around a
hole, often used to receive a tapered screw
head.

14 / Boss

Tare-%e / Spot-face

ufar fafereoft / Counter-bore
gt §iT / Countersink '

38

FON U9 3ffeheT @HlET ITeIOT K owq A
FOGIET Flh, HRdweq wfmar v

FH A A FEEE 8 TR § v seaeedar

el @ faged FT wwdr §

Using ‘ as a communication and

design review tool, can help shorten the design
process and eliminate productivity barriers.

d)

[CEaps iRy
Development plans
Yared e&ardsl Bigel
Portable document files
AT Ud A

The Internet and e-mail
e Ir¢ / Gantt charts
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9. g 92 / Question ZeaX ey
Q. No Answer Options
Sa 5 @A Froast grdr & uEr # osaae S| a) 112.5 com
150 #r. x 150 3. 9 s o Pear § gg| P 1125 oum
® ¢) 11.25cum
39 BT & &) 11250 cum
When a 5 ¢cm of rain falls, the volume of water
that falls on 150 m x 150 m of ground is
a) HTYET FETIAT Wiee ferATor
Fract A, Alsa, FYar g 997 gA7 44T Computer-aided manufacturing
mmﬁﬁﬁﬁqiﬁm‘%@wb)_mmma@m
40 | FEFeTE ' AT Zar & Computer-aided design
allows the designer to concepiualize c) FLT eI wreer At
objects more easily without having to make (?omputer—aded engineering
costly illustrations, models, or prototypes: d) YT FETIAT e 3 wed
Computer-aided prototyping
a) 3Ny ¥ / forward stroke
b) araEr FgeE / return stroke
g | T & el erg & e &1 § o) aWt e ue aae w1
A file removes the metal during - both forward and return strokes
d) 3od # T #S &4 T8
none of these’
g SFId F FEA F HA H, FFd & Fow | a) 30°
T e . ¢) 50
In order to cut mild steel, the cutting angle of d) 60°
chisel should be
Tt ¥ aot @ o ¥ @ e | @) T9#ms / Divider
is used to check the squareness of | €) argadt / Trysquare
surfaces. d) WdgMs / Surfacgauge
a) el ud FéEeT
oxygen and hydrogen
o | | b) Ao, gsge, T we
Rffiesr g & dosa A 9o I ATEeToTe
44 Fr GfEAfeT wE oxygen, hydrogen, acetylene and
The gases used in different types of weldlng n‘throgen
would include ¢) e, vEifEds ug M
oxygen, acetylene and argon
d) e ve vEifeeie

oxygen and acetylene
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| DM 01 (Draughtsman Mechanical) : Series — D

7. . 997 / Question 3ok faFeq
Q. No ' Answer Options
o gt . ' a) dwge / Graphite
45 . ; o727 T by fafeRe / Silicon
'&rraT.I‘@*‘?/ Which of the following is used in 0 Yere / Charcoal
penelis! , d) ERRE / Phosphorous
U Y F 496 # wiowadar gig #, afyja) 40%
0,
SHH Y® WIS A 20% EaRT 918 et § ar E)) jﬁ;’
" BT & d) 46%
The percentage increase in the -area of a|
rectangle, if each of its sides is increased by
20% is
ATSHIATCT, ST, SIS FYTHT T TUAT F7 | a) Bl 30eT / feeler gauge
ZaART A1 fovar ST whar & b) @df e / slip gauge
47 The accuracy of micrometers, calipers, dial ¢) IoF e / ring gauge
indicators can be checked by.a d) TewT 9T / plug gauge
a) SIS B Howd Serel
Strengthen the joint
o owmw F fav fEfed Sl W | b) wel o fGeror UFe
48 FERIYe U @rae saiied R S & Avoid tearing of plates
Caulking and fullering is performed on riveted | ) &ROT et
| joints to Prevent leakage
d) 3uTera gl
All of the above
v Y 25 e, 1290 Ser v 6o, wgw #1 | a) Rs. 4560
s ARt UF el T AT FE F oA b)) §5'§§§8
. : ¢) Rs.
49 (WAL 7S w R E A g d) Rs. 5680
A tank is 25 m long, 12 m wide and 6 m deep. .
The cost of plastering its walls and bottom at
7.5Rs. per sq. m, is
a) dIEdIde AT F TH WG
o : one side of the actual size
T WETAT & gfaund womel o, 9T | b) ATHT AT F UF Wb
50 | wEadr & 3repAf & Sl & one side of the nominal size
In a bilateral system of tolerance, the tolerance | ¢) ITATAF HAT & Gt HE
is allowed on both sides of the actual size
d) T HAT & FAr am

both sides of the nominal size
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9. ¥. 92T / Question ERSCE T
Q. No Answer Options
a) AME YURT &H d97 gAT
the heating effect of current alone
b) wTy dfew Tw
5T TGN T A # gw A hysteresis loss alone
s; |EE , ¢) Qe ORT F A W T
The heating of the large transformer is due to e g
both the heating effect of current
and hysteresis loss
d) avares # dig "
intense sunlight at noon
s) HB
53 frafaf@a & ¥ Fi9 wr ifeaa ds woRam 52 | b) H
‘Which of the following pencil lead is hardest? | ¢} B
| d F
_ a) .dicer / Brass
53 am, feer, fiF & ﬁril’d. id &l — FE§ b) '#JW / Bronze
An alloy of copper, tin and zinc is known as ¢) 7 g / Gun metal
d) Nuntz &g / Nuntz metal
a) 0% / Henries
54 _ # ofady @ A R G‘ﬂal' E.* b) 3HH / Ohms
Resistance is measured in ¢) daiec / Watts
d) dlee / Volts
FAX SO F Hg A ¥ e e s | @) P / Carburizing
. & ' A ¥ b) THAET / }.Jormalizing
The heat treatment process used for softening | ©) 3% / Annealing
hardened steel is d) T¥FHeT / Tempering
ofe s 30 Heb F faw 400 W A ufFw @ [a) 13kWh
56 | &ww d) 12.3kWh

If you used 400 W of power for 30 hours, you
have used .
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DM 01 (Draughtsman Mechanical) : Series — D

9. 4. 92T / Question 3o AFeT
Q. No Answer Options
a) a?rsfr 3RS fFar s ‘e*
can be drawn into wires
b) 3" €T T FiA F TR &
. - can cut another metal
FORAT UF Yk & AT A § G g9 ¥ | o) wiauw wurl fRwaer ¥ e s
YA L J— | gy
The hardness is the property of a material due breaks with little permanent
to which it . distortion
d) odelr AT 7 e 3rEr guler
ART ST Gl &
can be rolled or hammered into
thin sheets
S S a1 et & 9w w3, (6 x 10%) (5 x [a) 3 x 10°
10%), wRoTe T by 30x 1089
58 When these two numbers are multiplied, (6 X ;) ;’88;;?07
10%) (5 x 10%), the result is )
TR gard IO S a9 ¥ AE HRUY | a) HIRAT / Brittleness
T %9er F Wy o g T § oar b) d@waar / Ductility
FEa B ¢} ErIaEadr / Malleability
59 The property of a material due to which it d) cenfeeear / Plasticity
| breaks with little permanent distortion, is called '
8) TAWET &l IHAT
viscosity of ink
e T GERT TR A FA@LT R oa;ill 1y?jiTon phenomenon
ar
60 mmg . . c) ST F GERT FURY F fEIor
Tfhe absorption of ink by blotting paper diffusion of ink through the
involves . blotting
d)y wrswe fmar
siphon action
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% g /Rough work
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Draughtsman Mechanical (DMO01) — Answer key-Revised

ISRO SATELLITE CENTRE
Revised Answer key of the written test for selection to the post of
Draughtsman —B (Mechanical) held on 20-11-2016

(Advt. No. ISAC. 02:2016 — PostNo : DM 01)

| B Answer Key B |
| SeriesA | | SeriesB || | SeriesC || SeriesD |
uton | Cort || Goston | ot || Qusstion | Coret || it | ot
—e ] ———
L s | ¢ J s | d | x ] x
S | - ¢ [« [ 4 ] I
S | - | 2 s [ c || s | d |
e | 2 | /NN  « | b | [ s | b |
L7 o4 JLe b Jle Joa Jf. | d |
s | oa s J d Jl s J b || s | b |
Lo [ b |/ AEEE S | - | c |
- ERER T
L2 | & Jf2 | d w2 | b Jf 1 | b |
L3 | o¢ Jflas | oa || | oa || 13 | d |
L ae | Jaae | oc | aa | ¢ | 1a | & |
s | d J s | oa | | oa || 15 | & |
L6 | @& J . | a |l w | b || 16 | ¢ |
L | b Jlw |oa Jlw J|od | w | ¢ |
| 8 | d J s | b || s | a || 18 | b |
Lo | ¢ Jlae | d J e | a || 1o | & |
Lo | oa | a0 | b J a0 | d || a0 | d |
L2 | b Jlaa | oa Ja |od Jf a | & |
L2 | & J 22 | ¢ || 2 | a || 22 | b |
L 2s | ¢ 2 | ¢ || 2 | b || 25 | b |
L 2o | & |2« | b || 20 | & || 2o | ¢ |
L2 | b J s | a || 2 | ¢ || 2 | & |
L2 | 4 J 2 | a || s | d J| 2 | & |
Lor. | Jlae | d | | b || 2 | & |
| 28 | d J [ 28 | b || s | ¢ || 28 | ¢ |
20 | & J 2 | a || 2 | a || 20 | d |
30. a 30. d 30. a 30. d
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1. Answer given in yellow colour indicate the change in answer.

2. X - Question cancelled

Note:




